F2-158%K

S 1 AR T

BEFHERAL A RIEY S HRE
MBS ITEFER I = 4 I = @ Fr F E M #E (FiA ) AFLAR I = B =
s . ffﬁiﬁ%ﬁ*ﬁ:ﬁi‘%iﬁ%ﬁ%@t
= = = ﬁﬁ?\ Cll-S ﬂ"m Eﬁ Eﬁ —_ = — fin, ¥ L/{E §6810rﬁ
IS EE g (BET i TH BTt —T B6&9= ¥42 042,000 R Hi& MR SR
NEIE—K BAIE—K
TEDHEIEE Hhis B BKSEAE Z Dt
S8 B - ISO . cm = SRl A A ME RO R "=
IE.I*E =3 @EI$ ﬁﬂﬁli 71_\7—/7—’{7 %ﬁ_c. on = «s_:_'(l(f = 1 R ==
I$£$§ I$EJZ$E ﬁﬁ; Eégg%;)?% ﬁEEIIEE ﬁ%%%ﬁ 5E§J t'liiﬁﬁg Iﬂiﬁ *EH*.”: lyiy\ /}&J\ *EI%{'?‘JLM?J\ E$ﬁ$lﬁ# EEIEE
(53 2 2 1 — 1 2 1 2 2 GRlm) GRi =) — 17 10.000
[ {fi#& LA D SR (ifE R )
TEDHEIEE Hhis B BKSEAE Zhith
AtLE FfE s BETE IS0 EBIE | KS2T4T| FET | wmee an o mes | s im o SVl R &R AR %
I$5ﬂé$§ I$ﬁk*ﬁ ﬁﬁ; Eéggg’;?’[% E EIE E ﬁ%;ﬂ‘:fé 5E§J t,liiﬁﬁg iﬂiﬁ '*EE*JL B}iﬂ '/Flﬁw *EI% {'?‘ltmﬁ E$ﬁ$l£# E EIE E
MRS T et 2 0 1 — 1 1 0 0 1 0 0 — 6
EXfif=E (R 6.000
[ &SR]
AALIERE (Bith) EALBRERE (RIEEE) A | RAITEE * - -
AFLE A) EAAL @ o) o 52 mES (B) (C)=100+(B) | (C/A) % 100,000,000 EFLE FEHRREDOER
K 4 2 R £ A B
“fM & A H
S & A A2
AL E BT (BithE) ZES (EHESH@IE) X1 ME S, FHEEIS/NMEMIZRIERAALEMETERT
AT {E X2:MER=HBR/RafR) X (NEADHR)




